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Response tables
> points = 100
Pts agree
ANnswers agree



QUIZ
FOLLOWS



(a) 1

(b) 2

arithmetic

14+1=77

98%

O pts




d
— [zsinz 4+ 4cosx] = 77
dx

(a) (1)(cosxz) + (0O)(—sinx) e
(b) xcosx + 4sinx

(C) xcosx — 4sinx

(d) none of the above
Correct: sine + xcosxz — 4singx

Topic 0360 30 pts



2 + 4
(a) 3 332—|—4a:—1

1/3
(b) ( 2 4 4a:4— 1)

(C) 3 (mQQ—IiCIUZL— 1)_2/3

(d) none of the above

Topic 0390

a [In ‘(:132 + 4z — 1)1/3“

76%

1%

21%

3%

30 pts




(2) 2(1 +22)7 1 [ (1 +42) 411442y

(b) z(2z)% 1

59%

(o) |(1+ x2)$][ . (z-In (1 + x2))}

(d) none of the above

Topic 0400 30 pts



Find log10(7),

INn 10
d ; 7 __
(a) n7 l.e., solve 10" = 7.
In7
D 94%
(b) In 10

(c) In(7/10)

(d) none of the above

precalc 10 pts
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